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Real Champs- E¢

Riya Mandaokar 4 days ago
Thank you sir for the amazing session . gquestion bohot easily solve krva dete ho aap thank you

51 GO Reply

Nitu Maurya 4 days ago
Thanku sir for amazing session.
Percentage concept clear ho gya .

51 GO Reply

Amanvi (Sadhvi) 4 days ago

Thank you sir most wonderful session &
f5 1 GO Reply

Sarita Maurya 4 days ago

Thank you so much sir very nice session sir & =
51 GF  Reply

harsh sharma 4 days ago
Thank you sir all sessions are amazing but Aaj to bhout achi achi trick bhi shikhi h amazing sir ,, &

r5 1 GO Reply

Tanisha p 4 days ago
Thank you so much sir ., for amazing session ye bhut hi helpful sessions hai comission wale question karne maire lagta tha
pr ab nahi lagega thank u sir

Surbhi Sinha 4 days ago
Thank you sir bahut dhamekdar Question h sir or apke tricks k chalte samjhane k chalte easy ho jata topic thanks sir i




If on selling any article for 25% profit we get 300 rupees profit then calculate Cost
price ?

ate Tore a6 T 25% STH U So U1 EH 300 T T AITH THeTdT & A1 shdl Hed ATd

Hife?

C 0 1600
3.1500

4.1800
5.NOT



If on selling any article for 20% loss we get 300 rupees loss then calculate selling
price ?

i foRET T T 20% BT T G T gH 300 TUA <hl T Fiedt & at foshd 7o 71

Hife?

/= > 1.1500
b |‘l=D ',

3.1200
4.1000
5.NOT



If on selling any article for 7 1/7% loss we get 150 rupees loss then calculate selling
price?

afq forelt TRT AT 7 1/7% T W= T EH 150 T ht 1 Bt 7 av forsna wea 7ma
Hife?

/= > 1.2100
b |‘l=D ',

3.1900
4.1800
5.NOT



A shopkeeper sells his product for 6% profit. If he sells article for 42 rupees more
then he would get 13% profit. Calculate cost price ?

Teh SHMER U IUTS ol 6% T o ToTg srerat 2. afe 98 og i 42 To arfers o
AT AT I 13% ST UTH ERTT| TR 0o <hl TUMHT hi?

>4 S ;°/ 1. 600
wi=i) s

3.499
4.300
5.NOT



A shopkeeper sells his product for 11% profit. If he sells article for 45 rupees more
then he would get 20% profit. Calculate cost price ?

Teh ShMAR U IUTE ol 11% 1 o Forg rerar 2. wfe g oq i 45 vo arfers &
ST S A I 20% ST UTH ERTT| TR 0o <hl TUMHT hi?

/ > 1.200
- |J=D ]
Ne=> 2.400

3.500
4.700
5.NOT



A shopkeeper sells his product for 5% profit. If he sells article for 30 rupees less
then he would get 10% loss . Calculate cost price ?

Teh SHMER U IUTE ol 5% oI o FoTg srerar 2. 9fe 98 o i 30 To3 w0 # S=rat

T AT IH 10% ohY BT FIIT| RTT T <hl TUMT hl?

/e > 1.600
- |J=D ]
Ne=> 2.400

3.200
4.900
5.NOT



A shopkeeper sells his product for 7—% profit. If he sells article for 10 rupees

more then he would get 14—% proflt Calculate cost price ?

Teh SRMER U IUTE ol 7 1/7% T UR ST . AT o 6q ot 10 T tferes |

AT R A 3™ 14 2/7% 1 TTH Em WWE&WE@{‘?

(@)

1.280
2.70
3.110
4.140
5.NOT



If a person buys 2 fans for 1200 rupees each then sells one fan for 12% profit
and another fan for 7% loss . Find overall percentage of loss or profit ?

e Tk safth 1200 T0F § 2 TRe TRIAT & A Teh U 12% o o FoTg iR o v
7% BT o foru sr=rar g1 31 a1 ore ot Shet TfaeTa T shiferar?

@ % 1.5
(@) 325

3.2.7
4.9
5.NOT



If a person buys 3 articles for 200 rupees each then sells one fan for 20% profit
another for 11% loss and last one for 21% profit . Find overall percentage of loss or

profit ?

AT Teh T 200 T H ¥ T H 3 TEU @HIGAT 8, AT Teh UG 20% T 6 {70
ST 2 SO 11% BT o6 ToTg 311 sifae T ot 21% o 3 forg srerar 21 g
AT T el TFA9Ta AT shiterar?

L7~ 1.8
(J - 2.10

3.11
4.21
5.NOT




If a person buys 2 articles for 1438 and 3595 rupees then sells first article for 12%
profit and another for 11% loss . Find overall percentage of loss or profit ?

TS Ueh TR 2 TEGAT T 1438 3T 3595 A | THIGAT § A1 Ugelt oq i 12% ATH W
R O T <l 11% BT o o7 SIeraT 31 BT AT ATH T et TTd9Td ATl Shiforar?

@7 =% 1.12
(J o2

3.21
4.23
5.NOT



If a person buys any article for 1900 rupees then sellsg part for 6% profit and
remaining for 8% loss . Find overall percentage of loss or profit ?

qfg g saTh ToRET & T 1900 TUX H TRIGAT 2 A1 5/7 WRT T 6% T o ToTT 31
I AT SRt 8% BT oh oTT A=A g1 T AT ATH T et AT AT hitoTA?

(= N? 1.2% profit
/7 2.2% loss
3.5%profit
4.5% loss
5.NOT



If a person buys any article for 2900 rupees then sells 5/9 part for 5% profit. In
what loss or profit percentage remaining part be sold to make 4% profit?

qfg g STTth 2900 TIA W i3 TEG GHIAT AT 5% AT ok fo1U 5/9 AT =@t 81 4%
T HHT o (10 T 9RT AT Feha 1A AT AT Tfa9rd § 9= AT Amu?

( (420) > -3

A\ 2.2.25
3.2.75
4.4

5.NOT



If a person buys any article for 4900 rupees then sells 1/4 part for 3% profit and 1/2
part for 4% profit . In what loss or profit percentage remaining part be sold to

make 5% profit?

afg iy SAfh fohell I T 4900 TUXA H TRAGAT & AT 1/4 WHT 3% 14 o fo1g 3R 172
UTT 4% AT ok TeTT SIerdT 81 5% I ShHTH oh {oTU 99 HT <kt feha &1 9T &reT

TT9Td | ST STHT F1E0?

(@) 1

3.11
4.13
5.NOT



